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e

If (x—-2) is one of the factor of the polynomial 2x® —9x* +7x + 6 then the other two

factors are

A) (2x+1)(x+3) B) (@x-1)(x+3)

€ (=+3)(x-1) QA (2x+1)(x—3)

(x—2) eremug 2x° - 9x% +7x+6 eramp vOIMLLS Carerauler @m smyef crafled LHM
@) sryenilser '

A @Cx+1)(x+3) : B) " (2x-1)(x+3)

©€) (x+3)(x-1) D) @Ex+1)(x-3)

What percent is 15 paise of 2 rupees 70 paise?

S 2% ®) 92%
9 _ 5
5 | 9
Q) 42% 92y
©) 5 (D) =%

2 emumin 70- evugmedled 15 enLism arggenen s565510?

@A) 5%% ®) 9%%
5 9
450 929
© 5" D) =

Find the side of the equilateral triangle if the area of an equi-lateral triangle is
900+/3 cm? :

(A) 30cm A 60 cm

(C) 90cm (D) 120 cm

@ &oUES WPECaTamSar LFlLeTe, 900/3 Q&.18.2 crafld LGS DaTMRUS HTERTS.
(&) 30 Qs.S5. B) 60 Qs..5.
(C) 90Q@s.b. (D) 120 @s.16.
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6.

" poGsSne | g

Find the dlfference between- Simple Interest and Compound Interest for a sum of

Rs. 8,000 at 10% p.a. in 2 years. E
(A) Rs.800 | J Rs. 80
©) “Rs. 80,000 - .~ (D) Bs.10, 000

eh. 8.000&@ - 10% aJl_lq_sﬁgw Grcmﬂe) @ry&m@ cﬂ,mr@a;aﬂsu fenL&Eo &L@ GLILLq.&@LD g,sﬁﬂ
el g s o drar el Huned Srens.

@) 800 | B w80
(C) . &.80.000 - D) . 10,000
lllL Find x ' - S
_ 5_x x 1.25 : ' o
2 ' v j 5
@ 3 D 1
1l ' 3
C - 2
© 3 © 3
1_1__1_ 1 . . .
g. x-r.x'_1.2‘5 eraféd xm‘mﬁuq 55T,
2 | 5"
A — _ =
@ 3 ® > .
' 1 3
) = , -
© o 3

Which one of the followiiig has a terminating decimal expansion?

(C)'% __ .._‘(D)'—Ez'-
QéraouTabpIST 3 (oI S5iog Sier?
ez e
© = L o

1



7.

L}

A trader buys an article for Rs. 1,200 and marks it 30% above the cost price. He then
sells it after allowing a discount of 20%. Find the selling price and profit percent.

(A) Rs. 1,560, 6% (B) Rs. 1,428, 4%

& Rs 1,248 4% (D) Rs. 1,650, 6%

e Slwnunfl gm Qurmeer m. 1,.2006@ eunmdlermi. 96 sigean Ldsellamas@ G

30% ewisd, @ss oe sfant. QsneE 20% geresuly. Qa;rr@g,@ emmmt erafle,
afinueer eflenea LHMID QML FEHESHLD HTERTS.

A) @ 1,560,6% - (B) . 1,428, 4%
(C) ¢m. 1,248, 4% ‘ D) . 1,650, 6%

"The mean mark of 100 students was found to be 40. Later on it was found that a
score of 53 was misread as 83. Find the correct mean corresponding to the correct

SCQ e.
j 39.7 B) 3970

(C) -3.97 (D) 397

100 wrewreuisatler mé\ﬁ@uw.&;sﬁ]aﬁi ggnefl 40 erenm semsSuu’ L g). Geny, 53 eremm

- wFHUQuer 83 ey saumsns ahsslLLL g Qsfllu aubss. sflurer LHLCUGTEMmETE

Qarewr(h), sflwuner syneflenwsd sreaws.
(A) 39.7. _ (B) 3970
© 3.97 (D) .397

Tomorrow is Monday, what day is Yesterday? |
(A) Sunday Saturday
(C) Friday (D) Tuesday

mwrenen s dlpanio erafle) Crhm erenar Slipento?
A)  @minms fpeow (B) #afls flypenw
(C) Qeusrefls flpenio (D) Qseueumis &enw
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10.

11.

12.

POGS/19 6

If 258 x2 3 71is a multiple of 11, where x is a digit, what is the value of x ?
@A 1 B 7
0 . D) 9

258x237 erenim eremr 11246 sﬁ@u@,\m eresiléb x e Wiy wimg)?

Ay L7 (B) T
C) O : D) 9

‘A train is going at a speed of 180 km/hr. In m/sec its speed is

(A) 15 m/sec . (B) 30 m/sec

(C) 40 m/sec ‘M 50 m/sec

@ Qami euermg. 180 £.15. / wearfl eren Ceussdler Qs dlmg) crafler, sigen Coussams L5./e8l
SITEHT. _

@). 15 Lﬁ{’eﬁl (B) 30 /e

(C) 40.5/68 (D) 56 W5/

There are 1000 soldiers in an army camp. There is enough provisions for them for
70 days. If 400 more soldiers join the camp, for how many days will the provisions
last?

(&) 40 days _ \6 50 days
(C) 45 days (D) 55 days

@ Qrramieu wambler 1000 eSyiser @meSnriser. SieuisEsdE 70 Bl s@hse Cungwme
weflenss QumpLseT 2 dtaran? 2ihs WamilHE Guaib 400 eSyrser cung Canbsmisear erefle
THHMET BITL-&(Eh&E 2bhs waflenss Qumplsear G TaTIsTs @) mHs@LD.

A) 40 B s6r B) 50 pi_ser

(C) 45 priser D) 55 frr;rrl‘_.&aﬁ

1t



13.

14.

15.

i

‘Non — brahmin Manifesto’ in 1916 was published by
(A)_  Dravidian Association
J South Indian People’s Association
(C) South Indian Leberal Federation
(D) Madras Mahajana Sabha

.1916%&) ey & ‘Wymoentt HrGsrT wrabusCGL emeu Geuefludi L g ?
(&) Syreilen HCavmallCuigen

(B) Qserg @pdHwen Siuberen 2iGevmendGuigen

(C) Qsears @idwen Sluge QuLGraen

(D) Qui e wemmer Fum

" The founder of “United Indian Patriotic Association” was
: M Sir Syed Ahmad Khan

(B) Harish Mukherji
(C) Agakhan
(D) M.G. Ranade

w&Ew @hElw Gg,aﬂu_; BLPHESG 2 (HeuMsElweurr
(A) & mswg SisWLG ST

B) apnfled wsigd '

(C) ssmamen

D) Gn..b.@. graaTGL

The term ‘Kanakkayar’ refers to
(A) Poets (B) g Merchants
(C) Lawyers Teachers

‘sawsSTWIT sreiﬁg) Quuwi ergeman GHUKAHEE?
(A) yeeurser ¥ B) auafsiser
(C) m@é&@mu@ﬁam D) Afwiser

7 POGS/19
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16.  Who coined the slogan “Go back to the Vedas™
(A)  Sri Aurobindo M Dayananda
(C) Rajaram (D) Madhusudan

“Ceug sresdnE SHmbLRGT e (PPRE5505 (PYhidlwsul wmi?
(A) &7 opleanCsr (B) swremps

(C) prgmymb D) wgEsem

17. Where was Emperor Bahadur shah II exiled in September 18577
(A) Hyderabad {B)- Sri Nagar
d Rangoon (D) Columboo

Currer @rewm_mb usgniagr Qe bur 18576 ermi@ B SLSFLILILLTT?

(A) eapsyrurs (B) ubmam
(C) prusmer (D) Qamupy
18. The Indian National Congress fixed . as the independence day.

(A) 26 November 1930 A.D.
w 26 January 1930 A.D.

(C) 29 December 1930 A.D.

(D) 15 August 1947 A.D.

Qpdw Caélu smmdlyen SPaETLUDMIET 6THS BIeeT (PS5 &SHEHT HreTns iMelsss)?
(A) 26 peubuir 1930 A.D.

(B) 26 gereufl 1930 A.D.

(C) 29 ysbum1930 A.D.

(D) 15 <ysev 1947 A.D.

POGS/13 ‘ _ 8
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19.

20.

21.

22.

1

The statutory rules regarding election expenses are laid down in

(Aé' Section 67 of RPA (1951)

Section 77 of RPA (1951)
(C) Section 87 of RPA (1951)
(D) Section 97 of RPA (1951)

Caige ewaamisemerts undlw &L elglpamnsamens s mais)
(A) wsser Yrdlbldlsgeus sl b (1951), Gifley 67
(B) wsser Qrfldsgieus s b (1951), Wifley 77
(C©) wsasear ArHHHssieus s 1b (1951), Gfley 87
D) wésdr QrdHSssaE s (1951), 9flay 97

How many members are elected to Lok Sabha from the Union Territory of Delhi?
@A 1 (B), 3

©) 5 vdf'z

gadul  GyCgsewmar  ALoelluliler @QmHs WLEETISGS TEHSMET g@u@mfrassh‘
Csiih0sH&s U H & emmenti? :
@A) 1 (B) 3
© 5 D) 7

The institution of Lokayukta was created for the first time by the state of

(A) . Orissa (B) Bihar

(C) Punjab - Maharashtra
@nHwrelled psen PSS Caorrés 2AWSsT QaTa(h eubs Wrbled
A) gfler B) Ssmi

©) ugpsnl (D) wsryreglg.ym

The institution of ombudsman was first created in

(A) Norway M - Sweden
(C) Denmark D) U.SA.
R CLOEHT 6TET DienLOLIL @g,sﬂev CompmiedlsasiiulL g
A mrGey ' B) seiLan
(C) Quanwonié D) =Qwhsst
9 POGS/19
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23.

24,

~ 25.

POGS/19 10

In whlch one of the followmg cases the - Supreme Court ordered shlftlng of 299'
1niustr1es using coal in order to protect Taj Mahal? :
)

M.C. Mehta V Union of India -
(B) * Vineet Narain V Union of India
(C) Sanjeeva bhatnagar-V Union of India o |
(D) Rajiv Ranjan Singh V Union of India ) | ' .

&Epasa;aum_eup,rﬁlsv TG GUPSED FTRDFTAGL urrg,jasrr&s& 299 angﬂmsnmw&mm @LLDWQ)DLD |

Qi e deBgwenmd ag)g,r,rsﬁh_l_g,]?

(A) M.C. Gmg,g,rr V wédhu sigs

(B) efiefs p_rrrjrrqusoT_V wsHU oigH
(C)  eEsdeuuliprad V‘mgﬁu__n DIy
(D) Unﬁ@-j@&sﬁ?@m V wsdu s

Fundamental Rights wn:h certain exceptlon under the Indian Constltutlon can be
suspended during -

(A) . General Elections - | ' (B) State Enlergency
M National Emergency (D) Flnanaal Emergency

@;551&.! &U@uwwwu@m égg em S BigluemL e_rﬂam.nassmrr gaSll;r LHo .auq.uuem..
2 flenwsamer cruG]urr@gj Bmsd eeussumn?

(A) Qungy Ggrrg,m WSS ! (B} wrrﬁleo 6}5@55@@@ Gurg

) Gg,éﬂu.; G‘E@‘saslq.lﬁmeung - (D) B8 Qpmasy. souGHD -

Who appoints the Munieipal Commissioner of _t.hé Corporations?

. (A)  The President ' (B). The Prime Minister

(C) The Central Government The State Government
Wy Len‘rf)e;rym'_é] %wwumg Leflulé DNOTSHICUS) -

A) . Gyurss g,ai)@m.lr'r : : (B) Qpsw wpHf

C) wsHu yETRISLD . D) wrfle Fpgrmgn

o



26.

The theory of ‘Big Push’ developed by )
Paul N. Rosenstein — Rodan (B) Harvey Leibenstein

(C) Prof. Ursula Hicks ; (D) Keynes
‘Big Push’ erenm Gam_unm’eL e meursslweur
(A) Cyregendlwen —Gymeo (B) amied Qmusb‘rsivqeh

(C) CGupmaflwir. 2 e abléev (D). &enan

27 i 6 refers to e
Centre for Environment Education

(B) Centre for Economic Education
(C) Centre for Ecology Education
(D) Centre for Employment Education

CEE eenug

A) Goiaas sdedl ewwid

(B) Qumrmermgnys sevell eowid

©) &hoiliLym 2 ulflers sevedl e wid

D) Ceusmer eumiiLé 606l eowibd

28. DPRAP means
Drought Prone Area programme

i}

(B) Drought Poverty Area Programme
(C) Drought Prone Agency Programme
(D) Drought People Area Programme

DPAP aenug

A) aupldl urdgs Hleoluriysg b

B) an’f amew urdss Hlelugiysg HlLb
©) apldlundss wsdws S L b

D) eupld urdss waser Holuglys S Lb

11
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29. Who appoints the Chairman of Finance Commission?
President of India | (B) Prime Minister of India
C) Chalrman of the Rajya Sabha (D) Speaker of the Lok Sabha

@ pHwunellen Elf @@ g,mmeumu HuwdlsEd gg].asrrr,n.b Qupmeurt wimi?
(A  @bfu @uugs ol (B) @pdw drgw wpd

(C) T FURGH G FUTHTLIST (D) Carg sumellar sunpmUST

30. InIndia, the proportlon of populatlon below international poverty lme 18
.A 41.6 % (B) 40.6%
306% (D} 35.6%

@nHurelled usraT_() eumeLDE Ga;l‘l’l_'_lq._G&T S o drer wEsET Qgrens
@A) 416% (B) 40.6%
(C) 3806% o D) 35.6%

31. | The Monopolies and Restnctwe Trade Practlces Act (MRTP) 1969 was replaced by
(A) PURA model
d Competition Act 2002
(C) Foreign Exchange Regulation Act 2004
(D)  Foreign Exchange Management Act 2000

apenayflanwo LOYD uTgss SLELUTE BaL(pmn FLLLD 1969 - 5@5 uflens eps LD
2 (haunssLul L g7 :

(A) PURA wrgf

B) (Bun:;Lq_ sl (2002)

©)  <pBlwédeonauent gumiEuan FL1b 2004
D) <epdwus Osarauar Cuamairens L b 2000

POGS/19 12 | BE=



32._ The person known as the father of Green Revolution in India is
(A) Masanapu pukako
(B) Nammazhwar

d Dr. M.S. Swaminathan
(D)  Prof. Verghese Kuerin

@pIw ‘Lamwlyrduller sHheg’ erenm HimWpEsIIuBLeT
(A)  wevnaryysTCsIT . |

B) mwmpeumT

(C) pevareui. enid’ eren. seuMABTSET

- (D) Cuprdfwr euev @G Mesn

33.  The Bailadila mine located in Chattisgarh is known for the resource of

(A) coal - d iron-ore

(C) mica : (D) manganese

F5SVET LOMEIVSSE DIMLOBSIETET HLIQTIG T FIRISD’ @Gheumg,élm@ Quuwir Cuneng
@A) Paossh . (B) @ovusts
(C) ewssr D) wrsets

34. In which place the highest temperature found in India?
(A) Lucknow . B Négpur :
w Ganga Nagar (D) Ahmedabad

Siflseraller Qeuliubleney smramTliLIHD @ bHwreller L@ erg?
(A) sCerm (B) mmaym

(C) smsaTmBsID (D) _:".qa;mg,rrufrg,

i}
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'35.

- 36.

37.

POGS/19 o | 14

In Biocommunication, Intraorganismic communication involves

,A Sign mediated intraction in cells (Intra cellular and Inter cellular)

(B) Sign mediated interaction with same related and non related plant sps
(C) Sign mediated interaction with bactena

(D) Sign mediated interaction with water pressure
2 WG\ GlgrrLr'ran]u_uaS]eb. QaeraEmraE o-aTGemy e g5eued Qem_iy erenug
A)  Osadpe e aGamy, Qedsenie o Cuub goLGED AsrLiungb

- (B) @Cr wadlflwmen grrsm;rréwaﬂgmb, Caimul L greurhsEnsEE ,@G)LGUJ goudn

ng_r'ruir@d) _
(C)  unsefwnisEnése e Cu srariu@dp Qgrfurgb
(D) fbiﬂGUT a@ﬁ,g,gﬂmnm gou®fp QgﬁLﬁQH@Lb- _

_ Which of the follewing is a basic salt? .

@ Ps (B PbCO;

(©) PbSOs | - 2PbCOsPHOH):
" Geeu(heueTeUDIIET 618 STTSSEML UMiIHS &2

@) Pbs (B) PbCOs3 |
(C) PbSOs ' (D) 2PbCO3.Pb(OH):

Which of the following is not an organo — phosphorus‘ insecticide?

(A) Malathion (B) Parathion
' Bordeauxmixture (D) TEPP
_ £|E]§e'saaa§m_m,ri)gjei'r &T51 Sl — Limeouren LFASQETDeS Bide?
(A) wresswrer ' - (B) GurgsSwiren
(C) Curimgwréen seaeu (D) TEPP

1t



38.

39.

40.

L

Why a small drop of water or mercury on a clean glass p]atevis spherical in shape?
(A) 4 Due to viscosity (B) Due to capillarity

Due to surface tension (D) Due to tangential force
Alu Hisgiefl si@es unsresgell g sa@manTg s g;aaa'_mi‘,» @ma@w Cung Carers aigeauld
Quné snyeRId e ?
A) unghleeuiernmed B) mearymwCunnssearme
(C)  upiy @uellensulerme (D) Qgn® efensulemed

When a pentavalent impurity is added to an intrinsic semiconductor it becomes
(A) 1nsulator

(B) intrinsic semiconductor

(C), p—type semiconductor
4! n — type semiconductor

RH&IS Hwen s @ QI.GiTGYTITI:r{_i')g, @mmasl_,é,ﬁuﬁlsb Camga UL LT FE SENEDLD 6TGIETEUTE
LOTMILD?
(A) -&m09
B) admmr‘r;ﬁg G@D&LGS
(C) p-type g@psL 5
(D) n-type GeonsLss

Molisch test is used for the identification of

(A) amino acid (B) protein
carbohydrate (D) nucleic acid
wredlevs Cemgemar — & sa(HGigés LwaTuBHEng).
(A) =HCaT bl B) -yCrmliieen
(C) smCGumrean Gl (D) BHlwsalls iblebd
15 POGS/19
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41. A food chain consists of

(A)
“(B)

(D)

Producers and primary consumers
Producers, herbivorous and carnivorous
Producers, consumers and decomposers

Producers, carnivores and decomposers

@ 2-aray saldulier SiLfd 2 ereeney

(A)
B)
©)
D)

swriliumerT wHmb wWwee Hlae misTGeum
swrfluurer, sreur 2 arentl HMID edlevrhi@ emenfl
swriluurert, BsTGaurt wHMID SiflGse0
swriluumert, eflemi@gerrenfl woHmid a{\é@u‘umff

42. The eukaryots, the biggest unicellular organism 18

(A) Entamoeba histolvtica
w Amoeba proteus
(C) Euglena sp.
(D) Paramecium caudatum
wCasflwm iy e BlsLQuflu @mGsad 2 ulf eramug
Q) earBur aflevCLreel nsm
B) eBur uGrgwen
©) wsaellern @eumbd
D) umpSwib srGL L b
43. Nicotine belongs to — group of drugs.

M Stimulants

(C) Cannabis

Hl&CGamig e
A) Slarirgygser
(C) - sepem

POGS/19

(B) Narcotlcs e
(D) Analgesics

cuaseWwé smiihg CLTS [HHS <4 @GLWD.
(B) CGureng wmba
(D) eue Hleumyafaser

16
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44, O{of the world’s highest optical telescope located at Ladakh is named as
)

45.

46.

il

Himalayan Chandra Telescope
(B) Hubble Telescope ,
(C) Kodaikanal Observatory
(D) Kavaloor Observatory

L s uEHulled 2 arer 2 edler s 2 wigwrer GsranaGrradlsafier garmdlar Guuwii
Q)  @urewdr shdyr Osraathrsd ]

(B) anuder AgrenaCrnsé)

(C) Gsre_ssmeard auraGChréEsD

(D) smeugnT aJneiﬂG‘rf;rTé;asLb

“Doggria Kondha” tribals resides in

Odisha ' (B) Assam
(C) Meghalaya (D) Manipur
Qe flwr Qsmehrm UWPEIGlg WEs6T eudl 9L b |
(A)  eugevr (B) =evevmd

(C) QGusreowr _ (D) wemfliiy,T

In the following statements, which one is incorrect?

(A) M.G. Ramachandran started Pugalur paper plant in 1984

(B) TNPL Pugalur is the biggest plant in Asia

(C) Cement factory was started at Pugalur in 2013 for 100 crores
Pugalur is located in Coimbatore District

. EpsawTLneusatied Seummen snnenm &ewt(Hlg ?

- (A eaw.8). grosndlyen 19846 LsEHT HTES oo FOEASSTT

B) y.erem.9.arev.4sEnT 1S pame 2SwredlGCaGu sl Quilwg
(C) 2013é yswpiler 100 Camguller HQwarT e HTDGssEILLL g
D) yswrT CamubLSENT LTI LSSl Db 6Terg) |
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47.

48.

49.

How many countries are members of Shanghai cooperation Organisation?

J 8countr1es (B) 7 countries

6 countries (D) 5 countries

QIMRIGT RSGIEOLPLIL cgaGmLDleﬂGb assman Br{HseT 2 mUblaniserts o ereren?
@) 8pr@ser . . (B) 7 pr@ser
(C) 6 prihaer : (D) 5 priser

Which one of the following countries are G-20 members?

M India, Russia, South Africa, Japan

(B) India, Russia, South Korea, Denmark
(C) India, Russia, Canada, Spain
(D) India, Russia, Canada, Norway

&G @PuGL@Berer pr(safler eraneu G-20 2 iy prRseT?
@) @pSuwr, resw, Azer o 9AEsT, giiLen

B) @pdun, resw, Gser Qamilum, Aenorid

(C) @bdwm, gagwm, serm, cvGuulen

D) @sHun, geswr, senLr, priGeu

- XXXII Olympic Games will be held in the city

(A) Madrid (B) Beijing

(C) Buenos Aires w Tokyo
326ug ellibi9é GuL g o QU BT

(A) e - B) Swdw

(C) Gueren eriflen ' (D) CLrsAHCum

POGS/19 ' : 18
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50.

51.

52.

1

What is ECCC?

(A) Environmental Control and Conservation Centre

(B) Elephant Care and Conservation Centre
Elephant Conservation and Care Centre

(D) East Country Community College

r.&81.8.8. erenmmed erenren?

(A) a;g')gné@g@ SO LOHMID LIMGISTLIL| WD
(B) wmeanser ugmofliy wHmib urgsTiiL] ewwibd
(C) LT eTEET ungismiLy whmid ugmwfliy ePLowiLD

(D) s wreul L geps sl

Basically Dr. M. Swaminathan is a/an

(A) o Space Scientist ' (B) Environmental Economist
l Agricultural Scientist (D) Economist
SlgUuerufé Dr. M. seumdprgen ¢k ——— peumi..
A) &arCeuafl elenenme -(B) a&pmluym @we Qummetlued oil@pir
(C) Ceuarmamenwo afl@penmefl | (D) Qummernrsny Coas

Econopﬁc Reforms in India was introduced in 1991 by the Congress government
under the Prime Minister ship of

(A) Mr. Rajiv Gandhi (B) Indira Gandhi
Mr. P.V. Narasimha Rao (D) Morarji Desai

- Qummermgmy  ETHmSSID @;r;;ﬂu_rrraﬁ]eu 19915 ear®h ehs  sTRSFEL  FETe

SDpslLBiSSIULLG)?
(A) grsdeu s (B) @pglnT sTHEl
(C) P.V. prélidwo greu (D) Quwmyrs Caemis

19 " POGS/19
' [Turn over



53. The probability of getting a job for a person is % . If the probability of not getting the

job is 5’ then the value of x is

(A) 1.5 Y W

©) 2 (D) 3
@m BpUmES Ceume e Lusnanar Hlansse] —;: Ceuama dlenL_&&moed @(HULSDHETET
Hlapsse] é arafled; x e iy

A) 1.5 (B) 1
C) 2 M) 3

54.  Find the H.C.F. of x", x™*!, x"*?

,A) % B) 552

(C) .1' (D) xn+1 i
BS.Quim.eu. srams : x' . xn+1 ’ xu+2

A X" e
© 1 - Dy

55. A rectangular sheet of metal foil with dimension 66 cm x 12 cm is rolled to form a
c_ylinder of height 12 cm. Find the volume of the cylinder.

(A) 2772 cm® ? 5148 cm®

(C) 4185 cm® ) 4158 cm®

66 Qa.15. x 12 Qg.18. erapd eraysd QararL g 2 Canss g,aal'_lq_mém 12 Q&.8. 2. wyaperer
Q@ 2 (HEETIITE AHMIETTE ElnL_&@HWD 2 (HETUIET HET |6T6 &S '

(A) 2772 5.Qs.15. (B) 5148 5.Qs.15.
(C) 4185 5Qs.15. (D) 4158 5Qs.5.

POGS/19 20
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) el

56.

58.

i}

The semi perimeter of a triangle having sides 15 ¢cm, 20 cm and 25 cm is
(A) 15cm : (B) 45 cm
& 30em D) 60 cm

15 Qe.15., 20 Qs.18. wpmib 25 Ce.8. Lss SaTaysa Astar @ PECoTasdlean s
sHaTal |

(A) 15Qs.1b. . (B) 45@s.15.

(C) 30Qs.15. (D) 60 Qa.i5.

A fruit seller bought 12 boxes of grapes at Rs. 160 each. Two boxes were damaged.
He sold the remaining boxes at Rs. 200 each then profit per cent is

(A) 4.258 - (B) 4.33
M 4.167 (D) 4.52

e U ewrumd 12 Quiig Sym_essamer e GuLig ¢p. 160 eramy 6Ssb eummidlemi. il
Qe Quigsear owdelRdng. Basuperar Quiigsmer @ CuléE ;. 200 aSsbd
aleaéE lnSpri erafler @Gemu 56510

(A) 4.258 _ : (B) 4.33

(C) 4.167 (D) 4.52

A dealer bought a television set for a Rs. 10,000 and sold it for Rs. 12,000. Find the

profit/loss made by him for one television set.
(A) LossRs.2,000 . ‘A Profit Rs. 2,000
(C) Profit Rs. 10,000 | (D) Loss Rs. 10,000

@@ Qwrss eSlwrunfl o Asramasst & QuL_igew @, 10,0008 euriudl em. 12,0008
Spdlpmi. e QuLigufern @amub/BL L Smss Srams.

(A)  e5.2,000 LD (B) . 2,000 @emuid

(©) . 10,000 @eruibd (D) p. 10,000 pLLib

21 - POGS/19
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59. QRcodeisa

_ (A) Book A Picture
(C) Building ' (D) Tree
fenyey saeue GHUSE eramug )

(A)  uysssd e B) uwLw

(C) slgLbd _ D) wrw

60. Find the median for the followiﬁg distribution :

Value |14 2103104 |°5

e s e | 9 | ]

,/) 4.5 | e

€ 5 (D) 4

Ep&aTemb LTeueder symail smer : . '

wdliy : 1.12 (3] 4

fapQeiewr: [ 1 | 3 | 2 | 4

A 4.5 B) 9
© 5 : (D) 4

61.  Find the value of J383+\/302 —J164 +v28-/9

Ay 19 (B) 16
J 20 (D) 22
S LIL| HTEHTS : \]383+\/302 —-\ﬁ64 +28-+/9

(A) 19 _ (B) 16 
(@) 20 (D) 22

POGS/19 ' 22
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62. Find the ratio of 9 months to 1 year

l 334 B) 4:3

94l '_(D)

1:9

9 LrEEENEW. 1 ABLEIDGDL Qe Cuwnar ailfssmss sras.
A) 3:4 : B) 4:3

© 9:1 (D)

 63.  Find the L.C.M. of x% -1, (x—1)2

J e-veE-y ®)

©) (x-1)(=*+1) : (D)

x* -1, (x-1)* eremuameuplen 15.8).10. HTewTs.
@A) (x-1)(x*-1) _ B)
©€)  (x-1)(x*+1) (D)

64. At what rate of simple interest a certain sum will be double in 15 years?

A) 6%% ' (B)

1:9

(x+1) (2 +1)

(x+1) (x%2-1)

(x+1) (le +1)

(x+1) (x2-1)

510
3

© 52% 4!5(6%%

(1 -@')'I'_()]I;Ilgl'_l_ Qsrevswrerg 15 aumrmsealed @rlglurugnd, eeflw ey eftflzb

GTEOTE?
1 1
6L - B) 5lo
A) 63 (B) 13
©) 5%% ' (D? 6%%

23
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66.

67.

Find the next term of the following series

CFI, DHL, EJO, FLR,
@ GOoQ - (B) GNR
(C) GOR v’ GNU
SpseanL Qarifle hss 2 mii] wing)?

CFI, DHL, EJO, FLR,

@A) GOQ B) GNR
(C) GOR _ D) GNU

Which river helped to transport to the granary at Harappa?

(A) Indus - (B) Ganges.

d | b R : - (D) Satlej

aThs P apguureile o erer sralwsHL rdnE CuTEEuUTSSTS Q(HHSS)?
A) éfig i =i (B) smms
(C) el : D) & Qovsy

Which of the following dynasities had the shortest reign?

(A) Slave dynasty : '
Khilji dynasty

(C) Tughlak dynasty

(D) Lodi dynasty

SpsemTL aulbssaa g ean Was Gndlw sreb o 8 yfibss ?

- (A) Sy aubEd

(B) Heag aubebd
(C) gisems auibsid

D) Ceamg eubsd

POGS/19 ; 24
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68.

69.

70.

Muyghal period? - :
j Shershah (B) Akbar

ft

Who authored ‘Amuktamalyada’
(A) Achyuta Raya '
(B) Venkatal
K_rishnade.va Raya
(D) Rama Raya
‘SIPSBLOTOWST 06w r(PEWIGUIT wiTi?
(A)  iEsg grum
B)  @wsemd CeumsL i
(C) ﬁ@@@m@g@urjnuﬁ
D)  @gmo gt

Mahayana form of Buddhism emerged during the reign of whom?

(A)- Ashoka j ‘Kanishka

(C) Samudra Gupta ' . (D) Harsha

CwmmeL W L Elé é;navgﬁsb waTwrer Lssg L9fle) 2 meurudhm ?

A) oGarair B) saflleys

© swsfreost (D) aorsi

Who imposed the taxes like jaribana and mahasilana on the cultivators during the

(C) Shahjahan (D) Aurangazeb

s eTui st - sflumerm LD{_]‘)QJLbI. wsaréloranm eam eflsmer LAAGCaumT g

&wgﬁ WIGUT WTA?

(A Qegfragm _ B) =surm

(C) agmmarer (D) N ALY W,

o s ' POGS/19
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71.

72.

73.

POGS/19 - 26

: Who- gave the patriotic slogan “Bande Mataram”?.
'(A) Rabindranath Tagore

(B) Gopala Krishna Gohale.
Bankim Chandra Chatterjee
(D) Aurobindo Ghosh

(A) U&EQ IS gjﬂ&éxﬁ

(B) Carure A wepent CarsGev

(C) uréma‘;h.b&‘r_'r,gc,hj&rrLLfr@_ '
D) . =GmapCsn Gardy

-Who was the’ author of the book ‘Discovery of India’?
' (A), Rajendra Prasad ' (® B.R.Ambedkar

J awaharlal Nehru (D) Vallabhai Patel

“ig eogmaurf] <L @‘r_r,é]u.m’ eTaT g:rsﬂaﬂ %é]rﬂu.lrr Wit ?
(A) rGxbdr Qrers : (B) Q. am@ug,&srr

(O geauanierd Cpwm o '(D) aueaumi uGL e

Who -was 1mpr1soned due to the participation of the Swadeshi movement in

Tarmlnadu‘? - -
A) Subramamya Siva - - (B) Bharathiar "
v.0. Chldambaram . (D) Vanchinathan

g)LES]IC.QrI'_I')I'I'l_I.q.GD &Cg8 @u_las&gélsu ura:@ Q&W@Tmem;rras @mmmn&gmg a@uaﬁlggmn qurrr?
(A)  suSywesiu é]aurr (B) orpdwmt
©) ez Agburd - | _ (D) ajfr@#]‘r_r;rrg,sh o

s



74.

75.

1

Which one of the following statement is associated with N.A. Palkhivala?

Preamble as the identity card of the constitution

(B) Preamble as the horoscope of our sovereign, democratic republic

(C) Preamble is the most precious part of the constitution

(D) Preamble is the “key — note” to the constitution

Ylemeu(pLd eThg dady ererr.er. LedeurenCGaun® Qs yemL wg?

Q)  wsayar sirflweewider ‘e wner o L

B)  @seyer HLE Gemero QUDD LTBTWIS Glg.wWrd e “grrg,é;[o”
O wsejer QnHw srdlweawiiber Vs WsHw LGS

D)  wsayemr ardluemwvlGer “‘@ne) Card”

Match the following :

State
(a) Tamil Nadu
(b) Wgst Bengal
(¢) Maharashtra
(d) Madhya Pradesh

(a) (b) (© (d)

(A)a 4 3 2 1

4 1 2 3
C) 4 2 1 3
D) 4 1 3 2

Spsaar_cupdleners QUTHSSIS :

mblemkigeT
(@) sBlPpHIG
(b) CuwneE eumserid
(c) wsmymagGTT
(d) wsdul ArCseb

@ ® © @

@A) 4 3 2 1
B) 4 1 2 -3
©) 4 2 1 3
D). 4 1 '3 2

Number of Rajya Sabha Members

1. 16
2. 19
3. 11
4

s

wrbleomiseTaney 2 mnlent ereurantsams

1. 16
2. 19
3. 11
4 18
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76.

.

78.

POGS/19 28 -

Who was the Chairman of the Official Language Commission in 1955?
(A) Gobind Balabh Pant P B.G. Kher
(C) M.P.Jain (D) V.S. Malimath

19551b yar(h iieucd Al Hyemamusdler sameaeaurns ﬂu.s@e’sasl;iuz_aur'r W
Q) Cesmips udels UkS (B) B.G. Qar
(C) M.P. Qgullen (D) V.S. wallwg

When was the Presidents’ rule imposed in Patiala and East Punjab states union?

@A) 1951 2 1953
(C) 1954 D) 1956

urC_gwrer wHmb HYseE ueEpsml psdu wrflagdled Guwrss seeeut 8 auGung

| SwouBiSsULLLG)?
(A" 1951 - (B) 1953
(C) 1954 (D) 1956

Which one of the following had. recommended for setting up of Lokpal and
Lokayukta in India?

(A), Santhanam committee
J Administrative Reforms Commission
(C) Vohra Committee
(D) Dinesh Goswami Committee
SpsarTLcummle) erency Cargumed wpmb Cansyusst @bHureiled gHuUBSSIILIL
Couemr(pb eremm sadlwig)?
(A) esmHgmand s8I
(B) dlireuns Fidmss peammud
(€)) Caimr 0L :
(D) & Cenay Cameveums &Ll ig

1L}



TSk

80.

m

Foreign Exchange Management Act 1947 (FEMA) of Govt. of India helps
L To regulate the operation of foreign

II. The conservation of India’s pl'ecioﬁs foreign exchange resources
III.  The 1ssue of guidelines to the foreign investors

IV. Control employment
M I, IT and III only (B) IandIV only
(C) 1II and IV only (D) IVonly

FEMA ( 1.947) QsmeTens @) g;gﬁuu QureTTETTHEHD eTeuelsIbd 2 F6 8ng)?
L  Qaelipr @ sbAualsmer sU HUUEES

II. GQeaflsrl @ epeQurmlsener LIHHCUSED UTGISTES

II. Qeueliprl () (PSS LTeT(HSE euamTUmD&SET QaT(HéEs

IV. Ceaueve eumiiiysener sL-HULGSS
A) L II wpmgod IIT w G B) I wnpolIV wl @b
(©) II womyw IV wl @b (D) IV wl@w

The main vision of the XI Five Year Health Plan was
(A) Health for rural area people
)  Health for all the people
(C) Health for below poverty people
D) Healfh for poor people

udCanmyreug) gHsTET(H &&TSTS H_ LSS W& QsmemaChns@L LmTame eTarLIg)
A)  Symo s SSTHTYD |

B) wiwamss) wésalan seETHMID

(C)  aumenwo GamligH EC 2 6rer wEsaflaN &S

D) g wasafler asTTHD

29 _ POGS/19
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81. Identify the correct food chain from the following

)

Vg

©)

D)

&Cy Qarpsstiu_Barereupdle sflwinear 2 e s shdladlaw e wWTeTd &rews.

4)
B)
©

D)

Grass, Snake, Elephant
Grass, Grasshopper, frog
Goat, Cow, Elephant

Grass, Tiger, Cat

{6V, LIMDLY, WITen e
ye, QeulH&Hafl, seuenar
Qeuarenm(p), L&, WTEET

e, Ledl, Lyenar

82. Which city is known as the ‘Shrimp capital of India’?

A)
©)

Tuticorin ' (B) Cochin
Chennai w Nellore

@ndwrelled ‘@mmevaafler gmm;_r,ésr;é’ erem SMWILELD BSTD 6TF)?

(A)
(©)

F15815 g (B) Qasrédlen
Qeeremer . (D) Qpevgnm

83. Chinook wind is blows in

. (A) Russia _ R (B) Thailand
w North America (D) Africa
Eayié sTHm 6 @L b
(A) ey - (B) smuembg
©) e QwissT D) < u9fssm
POGS/19 30
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84.

85.

11

Which one of the following are a group of sticky water soluble was_t.és found in some

trees?
J Gums

(C) Tannins

(B) Caffeine
(D) Essential oils °

Ylewme (Heueeunmier e Logmasaﬂsu &nemuuL_aS&mq W U (HIb saepowiaer, e smTussaly L
sfleju Qummer erg)?
A) Carpg

(C) . Lreflansar

B) s uSar -

(D) @Qeamwuewwrs eramtlemiise

Match List I (chromoplasts) with List II (Pigment contents) and choose the conect
answers using the codes given below : -

~ List1 List II

(a) Chloroplasts . I. = Phycocyanin

(b) Pheoplasts II. Phycoerythrin

(c) Rhodoplasts III. Fucoxanthin

(d) Blue — green chromoplasts IV. Chlorophyll a and b
(a) (b) (c) (d)

(A) 1II 111 T IV

(Byp III I vV I

\Z IV 111 II I

v II I 111

D)

Ul ig W6 gemiLen (cuanTantd seanflamasen) Ll igwe @raneL (Hndlésansdr) Qurmss SCuwp
2 _ear QgmELS BHg #llunear elenamwg Asfle) Qewis :

Ul iguwed — I Ul iguied — IT
. (a) usnsomilshser I[. JeouGsrswaefen
(b) uwuyssafilamsar II. J.euCasmerlgflen
(©) Heuliys saflsmisem III. Sy Gasnembder
(d) Seols — usens euawrants saflsmsar IV,  Lgmswbd o HML G
(a) (b) (c) (d)
(A) II 111 I v
-(B) III II v I
(©) IV 111 II I
D) 1V I1 I I0T .
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86.

87. The direction of magnetic field produced by a current carrying conductor is given by
the law :
(A)- Lenzlaw
(B) Newton’s law
M Fleming right - hand rule
(D) Fleming left - hand rule
@ sLsH0an WanGan L sHame aumid sMhs Lossen Hamsaw GhéED 698 erenan?
(A) Lenz &4
B) Hu L eafler a9
- (C) Fleming cuawsams ald)
(D) Fleming @ sams 698
88. The speed of light is minimum when it pass through
(A) -+ vacuum (B) air .
d glass (D) ‘water
gaflufler Gausib eraumlen euflwig Qe e bCuTg) G®mneuns @) HEELD?
4) GQeaupdiib B) smm
(C)  semammgl LCL&W ) it
POGS/19 32 =

The chemical formula of blue vitriol is

.4/ CuS04.5H:0

(C) CuS0.4.%H:20

Beo N Awimed eremigen Ceudeumiiium
(A) CuS04.5H20
(C) CuSO04.%H20

(B)
D)

(B)
D)

CuS04.H:20
CLlSO.1.TH20

CuS04.H20
CuS04.TH20



=89,

i}

Match the symbols with its expression on special reference to pedigree analysis

(@)

(b)

(c)

()

(€2))
(©)
(0)

=
=

©

(a)

1. Consanguineous marriage
2. Male, female mating
3 Carrier of sex — linked recessive

4. Normal male

(d)

GO g manLd SighHaETe Qauefltium_ iy eamyib sh5d aufléarane Hleamm QUTHSSS

(a)

(b)

(©

(d)

(&)

(B)
(©)
D)

O—
@ —
O,

(b)

1. Qpmrsu e ne Smoeamid
2. e, Quent @enewTiy
3. ure — @eneawrths epHik@ LSRTLEHL WL g;.mélﬁasei'r' ‘

4.  Quieuime e

33 : POGS/19
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90. The speaker of 17th Lokh Saba 1s

55} Ramnath | J Om| Birla
(C) Sadasivam : (D) Kiran Bedi

176ug) LNgmEHLETDSS 6T FLIMHTULIST
(A) r;rr.ngbrrg, ' - (B) &w Qier
(C) s&gmélaud - (D) AreanCGuig

" 91. The International Day for Preservation of the ozone layer is designated on
M- : Septernbér 16th (B) November 16t |
(C) June 5th (D) August 16th

@CGsmer ULFmSLI UTESTULISNETS &TeuCsa prerms psdlw prhHser sMlelssuul L Searnd

(A) QeuLburl6 - (B) mpeubuml6
(C) gard (D) %assim; 16
92.  The unit area of the object in the ground is represented by ————— is expressed
in metre or metres. :
w pixel (B) decibel
(C) mole (D) kilogram

@ Qurmafler uFtiueTemey WL wHmd BLLiseled) sap LWRTUEL SieTey Qeueumm)

- SDPESLILGS DS _
) sae | B) QLiLe®
©) Goré (D) ACwrdymbd

h)

POGS/19 , 34



93.  Who received the Arjuna award for International Table Tennis Competltmn"

J G. Sathiyan (B) A. Srinivas
@) Rupeendar Bal ' (D) K.C. Ganapathy

seuGse Gy ubgl Cumiguild oitmOearm efmg QuppeuT wrT?
A) ). ssdwen B) . Faflleunev

(©C) mYBsT LT (D) GCs.8l. semud)

‘94. ‘Kaya Kalp’ award is related to which field?
(A) Yoga (B) Sports
d Medical (D) Education

‘s s (B eHS HampuiLen GgmiyeLwg ?
(A) Cumsr _ (B) e&dewerwimi(®

(C) wmsgD : (D) saed

95. In 2I022, which country is going to host G-20 summit?

J India ' : (B) Brazil

(C) Germany ' (D) Japan

20222410 yemriq e a1 BTH G-20 2 68 e Bz Curdlp BT ?
A) - @ipHwr (B) QGyile

(C) Ggiwaef (D) guumenr

= 35 POGS/19
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96. The major objective of Pradhan Mantri Krishi Sinzhayee.Yojana (PMKSY) 1s to
achieve : . _

J Convergence of invt;stments in irrigation at the field level

B) Agricultural_credit available to farmers i

(C)  Crop Insurance

(D) Crop Improvement

Qs wpdfl fflev Aeremudl HLib (PMKSY) e Crrésid erens ienL_wi G@an'm@.m?.
(A)  unsen eued) cuweGeuaf cueny e w Berm Hrligw (PpsSH

B) imarsg eleugmuis@Ens@b eleusmu 63I_-6'ﬁT

(C) uwlbresmuSE

D) vl euerddl/penGanhmid

97. The measurement of multi — dimensional poverty index is based on
{/ I-;Iealth,. Education and living standard -
(B) Education and Health |
(C) Nutrition and Longevity
D) National income and Inflation
LIGIT(LP& GILPGMLD @@uﬁt'_mL_ Sered(Hibd Q.,_osinm +&qdu@;mna&e’s Q& mam_g
(A) awalrrg,rrmb, He6dl LD‘ff)g:leb QUMTLPEENS STLD
(B) seved LOHMILD FSTSTILD
(C) ssgammay mﬁ)gu_Lb Bereumpa !

(D) GCsflw eu@ponerd HMILD LeTeT&ESD
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98.

99.

100.

When was G-20 Agriculture Minister meeting held?
(A) June 19 and 20, 2019
(B) o, June 15 and 16, 2019
May 11 and 12, 2019
(D) June 8 and 9, 2019

G-20 Geuermeir Syemwégisaflen gal L b eriCung perLQuHmE)?
A) £9ar19 wpmw 20, 2019

B) &9 15 wHmbd 16,2019

©C) Cuwllwnmw 12,2019

(D) 5968 wHmw 9, 2019

Which is called ‘Quirky Cyclone’? _
(A) Vardha (B) Vayu
Gaja cyclone (D) Neelam cyclone

‘&T&8) @omeuafl’ erammenpssliuBeug) evg)?
(A) g B) eumy
C) sgrEprauef D) Bewb Goreuaf

Who wrote the book ‘Tiger Fire'?

(A) Bijo Joy ‘55( Valmik Thapar
(C) Arjan Singh (D) William blake

‘@LST LWIT e HIene er(PSHIweuIT wimr?

(A) QGG gm B) eureds ,srruﬁ
(C) irglen Sy D) evedlwib 9Cerd
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